# PLUGGING REPORT

### MAYO MARRS CASING PULLING INC. BOX 863 KERMIT, TEXAS 79745

**NEW MEXICO OCD** 

SUPERVISOR-MIKE DENNIS

Lease:

JAL

Well:

G-13 - 25S - 36E

Operator: Contract:

MARALO

EMERGENCY-05-521-0750-0101

IFB#

#### BID = HOURLY

#### 9-21-04 (10.5 HRS)

MOVE IN – DIG OUT 8 5/8" – INSTALL STEEL TANK AROUND WELLHEAD – SET ANCHORS SET 2 MATTING BOARDS – RIG UP – INSTALL 8 5/8" SUB TO BRING BOP ABOVE CELLAR – NUBOP – RIH WITH MMCPI WORKSTRING & KNOTCHED COLLAR – TAG @ 501' – WASH DOWN TO 506' – POOH – CLOSE IN WELL – WILL ORDER REVERSE RIG FOR WED. MORNING

10.5 HRS RIG @ @ 165.00/HR	\$	1,732.50
4 HRS BACKHOE @ \$ 45.00/HR	\$	180.00
RENTAL ON STEEL CELLAR & TRUCKING	\$	150.00
RENTAL ON WORKSTRING & TRUCKING	`\$	400.00
RENTAL ON BOP	\$	150.00
4 ANCHORS	\$	200.00
2 – MATTING BOARDS	\$	100.00
WELDER FOR BUILDING 8 5/8" SUB	\$	135.00
FURNISH FRESH WATER	\$	165.00
RENTAL ON FLANGE FROM CHANCE TOOL	\$	90.00
RENTAL ON STEEL PIT	\$	250.00
TRUCKING STEEL PIT	\$	331.50

#### 9-22-04 (12 HRS)

RIH WITH 6 1/8" BIT & 4-4 1/4" DRILL COLLARS TAG @ 465.57' – LAY DOWN 1 JOINT – RIG UP SWIVEL – LOWER 8' – STUCK – CAN NOT ROTATE DOWN OR UP – WORK FOR 2 HRS – CALL ROTARY WIRELINE – FREEPOINT @ 400' – BACK OFF & LEAVE 3 COLLARS & BIT IN HOLE – POOH – RIH WITH BUMPER SUB & ACCELARATOR – JAR LOOSE – POOH – SHUT IN WELL

12 HRS RIG	\$ 1,980.00
2 LOADS FRESH WATER	\$ 330.00
DOC'S REVERSE UNIT	\$ 1,564.00
RENTAL TOOLS (BUMPER SUB ETC.)	\$ 4,181.55
ROTARY WIRELINE	\$ 2,440.88

#### 9-23-04 (13.5 HRS)

RIH & TAG @ 505' – CIRCULATE 100 BBLS FRESH WATER – NO CIRCULATION – SPOT 60 SXS @ 505' – POOH – WOC 5 HRS – RIH & TAG @ 286' WITH SLICK LINE – RIH & TAG @ 313' WITH TUBING – POOH – NDBOP – TEST CASING WITH 8 5/8" PACKER SET @ 219' – WELL CIRCULATED – CLOSE BOP – WELL LEAK @ 8 5/8" COLLAR & NIPPLE – POOH – RIH WITH 8 JOINTS TUBING AS TAIL PIPE BELOW PACKER SET @ 30' – SQUEEZE 60 SXS @ 300# PSI – ON DISPLACEMENT PRESSURE WENT TO 3500# - DISPLACEMENT @ 100' – PACKER STUCK – WORK PACKER – 8 5/8" CASING CAME LOOSE – LAY DOWN 1 JOINT – CUT CASING & REMOVE PACKER – PACKER TORE UP - PULL TUBING – SHUT DOWN

13.5 HRS @ \$165.00/HR	\$ 2,227.50
PUMP TRUCK FOR CEMENTING	\$ 1,800.00
120 SXS CEMENT @ \$ 10.00/	\$ 1,200.00
FURNISH FRESH WATER	\$ 330.00
8 5/8" TENSION PACKER	\$ 850.00
REPAIRS ON 8 5/8" PACKER	\$ 735.00
SLICK LINE	\$ 10.00
WELDER	\$ N/C

## 9-24-04 (11.5 HRS)

WORK CASING LOOSE & LAY DOWN 11 JOINTS - CUT EACH JOINT - ORDER VACUUM TRUCK TO EMPTY STEEL PIT - WAIT ON TRUCK - RIH & SPOT 165 SXS @ 226' TO SURFACE POOH - WASH UP ALL TOOLS - WOC ON CEMENT - CEMENT @ SURFACE - RIG DOWN - DIG OUT STEEL TANK - SHUT DOWN

11.5 HRS RIG	\$ 1,897.50
165 SXS CEMENT @ \$ 10.00/	\$ 1,650.00
FURNISH WATER	\$ 165.00
VACUUM TRUCK	\$ 220.00
3 HRS WELDER TO CUT CASING	\$ 135.00
CASING TOOLS FOR 8 5/8" CASING @ 220' X \$ 45/FT	\$ 99.00
3 HRS BACKHOE TO DIG OUT CELLAR	\$ 135.00

## 9-27-04 (3 HRS RIG)

LEVEL CELLAR & INSTALL DRY HOLE MARKER - MOVE OUT

3 HRS RIG	\$ 495.00
1 HR BACKHOE	\$ 45.00
3 HRS WELDER FOR DRY HOLE MARKER	\$ 135.00
4" PIPE COST	\$ 24.00

COST TO DATE = \$ 26,533.43

# MAYO MARRS CASING PULLING INC. BOX 863 KERMIT, TEXAS 79745

## NEW MEXICO OCD HOBBS BID ID # EMERGENCY BID CONTRACT # 05-521-0750-0101

**OPERATOR: MARALO** 

Lease:

Project: P & A – CEMENTING REPORT

09-23-04 – SPOT 60 SXS @ 505'-313' & TAG 09-23-04 – SPOT 60 SXS @ 219'- NO TAG 09-02-04 – SPOT 165 SXS @ 226' TO SURFACE

**INSTALL DRY HOLE MARKER** 

